Andre bought a stamp to mail a letter.
The stamp costs 46 cents. Andre also
mailed a package. The postage to mail
the package costs 5 times as much as
the cost of the stamp. How much did it
cost to mail the package and letter?

Bridget has $240. She spent 3/5 of
her money and saved the rest. How
much more money did she spend
than save?

At a country concert, the ratio of the
number of boys to the number of
girlsis 2: 7. -If there are 250 more
girls than boys, how many boys are
at the concert?

The ratio of the measures of three
adjacent angles on a line is 3:4: 5.
Find the measures of the three
angles.

One angle is one less than six times
the measure of another. The two
angles are complementary angles.
Find the measure of each angle in
degrees.
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